





Barlagnama:

1.cos(a — ) =?
a) cosacosf —sinasinff b)cosacosf +sinasinf
¢)sina-cosf +cosa-sinf d) sina-cosff —cosa - sinf
2.cos(a+ p) =7
a)cosacosf —sinasinff b)cosacosf +sinasinf
¢)sina-cosf +cosa-sinf d) sina - cosff —cosa - sinf
3.sin(a + B) =?
a)cosacosf —sinasinf b)cosacosf + sinasinf
¢)sina-cosf + cosa-sinf d) sina-cosf —cosa-sinf
4.sin(a — pB) =?
a)cosacosf —sinasinff b)cosacosf +sinasinf

¢)sina - cosf + cosa-sinf d) sina -cosff —cosa-sinf
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‘ sin(a+ B) =sina-cosPB + cosa-sinf

Goy,3=a bolsun,onda

| sin2 «x= sin(a + a) =
=Ssina-cosa+cosa-sina = 2sinacosa

‘ cos(a+ pB) =cosacosPB — sinasinf
Goy,3=a bolsun,onda

cos2 x= cos(a + a) =

= cosacosa— sinasina = cos>
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cos’a—sin‘a=1-sin“a—-sin‘a=1-2sin‘*«a

2a — sin? a = cos’a — (1—cos?*a)=cos?*a — 1+cos?
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Berlen cosx=0.8; O<x< Z Tapmaly:sin2x

sin2 x+cos2 x=1

sin“x=1-cos” x

sin x = +4/1—cos® x =i\/1—0,82 -

= +,/1-0,64 = £,/0,36 = 10,6

sin x = 0,6

RO &
z___ >~
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Temany berkitmek:
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1+sin2« ) 1+sin2«
1+ sin2 «

14 sin2 <

) (sinx+cosx)?  sin? a+2sinxcosx+cos
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